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404 T 4 26 410103 skkkxxx0063 TR F A1
405 EA 4 25 42100235451 448 TR F R
406 i E 4 25 441402%%3k%%3%%( 7 22 TR T A1
407 B 'S 27 420526%Kskkx4k0 062 TS A1
408 ] B % 25 421023 %kkkkx5x%0426 T F A1
409 ANE % 27 362523 kskoksokokokok 2423 LS R
410 T#E 4 23 340803 %xkkkxk%k2685 THRHF A1
411 I 5 'S 27 422126%kskkk4k7 540 THREF A1
412 Al 7 4 25 4202025%3k5%%%0020 TR T A1
413 A& 54 27 34042 Dkssokorok 3423 LIRS R
414 He 2 4 26 421 18 1kskkkxxk3924 TR F A1
415 B 4 25 430902 kskskskk%%8 746 THHF A
416 EE3 4 27 42210 1 skskkkxk5846 TR A1
417 # F 4% 'S 25 411222skskkokk0024 TS A1
418 HIEY 4 25 340103*skkkkk0526 T F A
419 EE 4 24 360726%kkskkokskk002 | TR F R
420 x| By 3%, 4 24 220104%kk%%x%%0348 TR Z AL
421 T 4 26 420325%kk%%xx%1 120 T F
422 2[5 B 4 34 360722%%xx%x%%3660 TR F R
423 2 g 4 26 500236kkkkerkk022 1 LIRS R
424 7 KR 4 26 43102 1 sskskkkx%%6522 TR F R
425 7 ke 4 30 420202 k%5550 029 TR T A
426 R 4 26 371581 skskskokoksiokok 0024 TR A1
427 E R = 25 500239skskoksokk 0024 TS A1
428 % 4 29 411526%kskkskokokok6448 TR F R
429 B 4 29 411123%kskkxkk004X TR T A
430 LHER % 26 410726%*skkx%%k3825 THRHF A1
431 e 4 26 130425%skskskk%%x204 1 T F
432 B /N, 4 29 420923 %%3k%xx%002X TR A1
433 5 ¥ 4 26 421124kksk4k2045 LIRS R
434 1] 3% 4 25 43090 3xkk%xx%0344 TR F A1
435 i 4 25 321183 skskokiokk3626 THHF A
436 N 4 25 36078 Lkt 1068 TR F R
437 B At 4 26 4205264k 828 TR F A1
438 x| 4m 45 % 26 362204 %kkkxk%2440 TR F R
439 Gl 4 25 4212025 %xx%%x%002 1 TR A
440 4% 5 4 26 421126%kkskkk0022 TR R
441 FEd 4 27 41 1522kskkkkk0 04X TS A1
449 i 4 28 422 129%%xk%%%%k452.3 TR A1
443 s 4 25 420107 #kskskokkk2942 THRHF A
444 e 4 26 421002 kskkxkk 1 84X TR F A1
445 x| B % 4 25 421126%kkskkkkk3 125 LS R
446 4 BH 4 27 4127 28kkskkkk 6880 TR F R
447 e 4 24 150403%sksksksksk4%2027 T F
448 3 4 25 429280 sk k0026 TR F R
449 JE 1 4 25 421302skskskkkk [ 222 TR T A
450 ES 4 26 410883 xkkkkkx%6522 TR Z AL
451 77 4 3 'S 29 421 122skskskkk2 1 26 THREF A1
459 S 4 28 52232 1 kskkkrkk 925 TR T A
453 A “ 26 342222 %kskkkk 2043 LT R
454 MR 4 26 362322 %Hkkxx%*87 43 TR F R




455 FEZ = 27 421222 %FK4%xxx0028 TR F A1
456 EEH % 26 14230 1 ssokskooksikd 1 2X LIS R
457 TE % 26 410402%%ks5k5%%%k552X LIS 5]
458 B s 4 26 422802 kkkxxx%3920 TR F A1
459 B 5 4 27 37130 2skskkoksksioksk | 42 1 THRHEE R
460 ;3] % 29 i LI ]
461 /8 R 4 26 420222%K*k%x%%576X THRHF A1
462 KT 4 25 5001023kk%%x%%87 29 TR F A1
463 KB % 25 340406%kkkxkk3645 TR T A1
464 il % 25 411326%kkk%xx%4820) THRHF A
465 KEX % 25 37158 1askskksrkk 1 762 THRHF A
466 B3 4 27 62230 | sekskskskokokok(0027 THET AL
467 x| 4 5 8 25 42092 1 xskrokokkk 3424 LTHRHEE R
468 x| 7R 4 4 27 41041 Ixsokskorrk5582 TR F A1
469 e 59 27 4201 1 3kt | 549 LTHRHEE R
470 f X — & 24 421221 seskskskokokkx(02 1 LS F]
471 XA % 26 420607 x*kk%%xx5325 THRHF A1
472 fi L 9L % 26 32032 1xkskkkxxk0428 THRH S A
473 Jp 25 2 4 25 42128 1 #kskskkrk3929 LTHRHET R
474 T 4 27 130224%kxsk4xx0084 THRHF A
475 Z & = 25 420582%kH%xxxx0025 TR F A1
476 £ 4 25 42092 | sskskseokokokok 266 | LTHREE R
477 BT 5 27 3711023k k54552229 TR F R
478 FRI % 29 142623 *xkskkxx2329 TR F A1
479 EX 4 29 32101 skt | 820 LTHRHEE R
480 Bk % A % 27 412828 %kskkokkk0443 TR T A
481 T i % 2024 3721 32kkkkkk228 THRHF A1
482 R 7 4 27 42900 5%kkk%%x%430X TR F A
483 2[4 B 4 28 412702%k%x5%x%8181 TR F R
484 X\ & % 25 34118 1xkskkkxx%k5026 THRHF A
485 X 7K K %e % 25 3605025%kk%xx%%094 | THRHF A
486 2L 4 26 4292801 sksiokeokoiok2 620 THHF A
487 mR 5 26 42011 43skkrsodksk 2528 TR F R
488 = K = 25 140109sksksksksk4%%2023 TR F A1
489 LEF % 28 4290043 kssks5kk%xk] 125 T F A1
490 2 4 26 411503%kskkx4k8 725 TR A
491 EWZ % 26 140430 %xxk%%%x0029 THRHF A1
492 12 8 26 42108 Lkskskxrk0660 TR F A
493 e 58 30 42062 1 skskkkkxx(0 74X LS 5]
494 T # % 27 413026%*3kk%x%9207 THRHF A
495 pieAR % 25 5221 27 kskkokkkk7529 TR F A1
496 BT iE % 27 410402skskskskkkkk5549 THET AL
497 B3 4 25 420606%*skkxkk6525 TR A1
498 X # 8 28 422822 %kH**%xx5528 TR F A1
499 H & % 27 420203 skskkokokokokk ] 28 LT AL
500 Ex s 26 42068 3#kkotokonck 4226 FTRHEF R
501 ZE % 27 421123 %xkk%xx%012 1 THRHF A1
502 £ E A 4 27 420222 skkkkx% 1 422 TR F A
503 2 E g 4 25 37290 seksksksksrokok(0689 THH S R
504 i Kikai % 29 37088 1 xkskkskkk5322 THRHF A
505 EE-3 il = 24 411122%k5%%xxx8 104 TR F A1




506 e 4 27 330302skkkxkkk082 1 TR F A1
507 B 5 47 4 26 37090 23Kk k%0622 TR F R
508 ETE 4 25 41138 1 skskkkxx0026 TR T A1
509 ES 4 26 4201050029 TR F A1
510 %% 4 25 65270 1ok 4822 TR F R
511 # & 4 26 42280 sk 1040 TR F R
512 JE 4 4 28 421002skkkok£2920 LT R
513 23 E 4 24 420683 %kkkkxxx(324 T F
514 A, 4 26 43072 1 skskscokkrk 7327 LTHRHEE R
515 B 4 26 142622 %kkxkkxk4 748 LIRS R
516 F AW 4 26 420102 kkk%x%k2086 TR F A1
517 iE 4 37 5 26 422823 %kskkxk3660 TR F R
518 B 4 26 411381 skkkkkk 562 TR A1
519 x| 3% 4 26 420222 kskkxxk574X TR F A1
520 % Jk 42 4 26 34249 3skekskskskokokok()240 THRH S R
521 EERS 4 25 421023 %kskkk4k0423 TR T A
522 B & 4 25 230882k kkkxk%k2323 THRHF A1
523 B E &% 4 29 421 1 25k 324 TR F A1
524 A 4 29 421 182%%kkk3xk254X TR A1
525 JE 8 I 4 27 522422 %xkkAxkk5823 THRHF A
526 BT 4 26 412822 %kH+%xxx3486 TR F R
527 B4 K 4 26 14032 1 soksiokskokkxk 2420 LTHREE R
528 17 72 4 26 4201 16%%3kkk3xk264X TR A1
529 T 4 25 4104225k 828 TR F A1
530 T4 4 28 42028 1 #3kk5%x%8020 TR F R
531 E A 4 4 27 42070 4skskskkkkkx1 640 THH S R
532 Bk = 4 26 37 1424%xkkkx5x%2123 THRHF A1
533 F 3t 4 26 230403 *skkokokk0628 TR R
534 A 4 25 1301325k k30k44%0 024 TR A1
535 2 F 7 4 25 421 125%kskk%%%2026 THRHF A
536 x| ik Al 4 25 42080 1 *kskkkxkk4 069 TR F A1
537 2R 4 27 421182kt | 44 THH T R
538 EAE 4 27 430521 kK x%2380 LS R
539 5 e 4 24 411523 xskskkxx4823 TR F A1
540 5 47 4 26 140502skskskskk k%9568 LTHRHEE R
541 JE K 4 27 421202%%sks5543x002 1 TR E R
542 2o E 4 25 341202%xskkkxkk 1 324 THRHF A1
543 Y = 92 4 26 50023 53kskskkrsiokk6845 TR F A
544 x| 2 4 26 41132 3sskokokokokk0026 CHH S R
545 KA 4 27 41052 1 xskskkkxx0523 LTHREE A
546 REX 4 27 130102%sskskkx21 24 TR F A1
547 H = 4 27 141025%ksksksk0024 CIRH T A1
548 2 E 4 26 42052 1 skkkkxk 004X TR A1
549 &g 4 25 360428 kskkksikk [ 464 TR F A1
550 pAEagan % 26 430721 #kk5%x%7200 TR F R
551 M % 4 25 42280 I xskskknxxk3024 TR E R
552 ®E 4 26 13092 7skkskskxk4524 THRHF A1
553 B % 28 41090 Lsokekstokokokk202 1 TR R
554 e 4 26 422822 %k ¥ xK%*%254X TR F R
555 ¥R 4 26 411303sskoksokook | 824 LT R
556 PR ER o “ 26 411503s%kskkkokk006 1 TR R




557 s 4 25 421 125%kkkkxx%0920 TR F A1
558 X[ BE & 4 25 42088 1 skskoksrsek2 1 42 TS R
559 N 4 26 410103skksokkkk0060 TR F R
560 £ 2 4 26 5224 28kskkkkkokk [ 422 TR F A1
561 BE 3% 4 4 24 3601223k kkkk %0342 TR F R
562 wAE 4 25 422822 %KkkkK*%2529 TR T A
563 T35 4 26 150429%skkxkkx%0020 TR R
564 e 'S 25 412821 seksokooiok2582 THREF A1
565 =W 4 26 42092 1 skskskrk5 1 28 LTHRHEE R
566 AN K 4 24 4207043*skkx%% 1 584 LIRS R
567 # 2 4 27 340828 kckokorckok4 022 TR F A
568 % — 4 25 36040 Lkskskrxkk0628 LTHRHEE R
569 B 47 4 25 420528 skskskkkkkk ] 023 THH S R
570 x| 3 % 4 25 41282 T *kk%%xx%1029 T F R
571 X E 4 25 411522k sskskkk5727 T F A
572 AT 4 33 41272 Tkskkxxk62 1 TR T A
573 = 7% 4 27 410882 kkskkkkk8589 TR R
574 JE B4 4 26 410702%k5%%%x% 1 520 T F
575 HE 4 27 42011 5%kskkxk0060 TR A1
576 S 3 3 % 25 43072 1 xxkkkxxx400 1 THRHF A
577 s ] 4 28 411202%kk%%%%x502 1 TR F R
578 Bk 4 24 411323kkskkkkxx6324 LTHREE R
579 Y 5 4 24 491 123sksokskokokok 5623 TR A1
580 x| & = 'S 29 411526%kskkk4k2968 TS A1
531 ey 4 25 37233 0%skskkokokok 7 283 T F A1
582 B 4 27 4115243%%%k5%%%0028 TR T A
583 I 4 29 420203 kkskckkk2928 TR R
584 % 16,44 'S 30 220182 kskskoksokk4 528 THREF A1
585 S 4 26 43082 2%ksksk%k%%7 580 LTHRHEE R
586 1t 3% 4 26 421123 %kkkkx%%3227 THRHF A
587 FH— 4 24 412826%k#%%xxx0029 TR F R
588 & 4 27 420203%%3k5%x%4320 THHF A
589 A 7] 4 26 420582skskskkkokkx(048 THH S R
590 EikiZi7 S 26 420324kskkkk0529 TS A1
591 EE 4 25 421 123%kskkk4k6825 T F A1
592 F {7 4 25 43082 1 skxkkkxx8 240 TR A
593 FNE 4 26 370705%kk%k%0029 TR R
594 % - FF 4 27 412725%kskkkkk 1 52X TS A1
595 ¥ ¥ F+ 4 24 37108 2skkskokokoiokk 0023 TR F R
596 5K KK % 25 36042 3skkskskokorokok 3747 LT R
597 {4 = 4 29 410325%kskkxxk990X TR F A
598 E 4 26 411324%sskskokokkok] 121 LTHREE R
599 25 T 4 4 24 142603 skkskskskokkk2 029 TR A1
600 &% % 'S 26 41 1502skskkkk7 320 TS A1
601 ok g % 25 410728%kskkkokokok606X TR F R
602 E A& s 25 522728k 024 FTRHEF R
603 L AEH 4 24 410323%kskk%x%054 7 TR R
604 I 38 'S 29 420202%Kskkskxkk 222 THREF A1
605 B 4 26 360725 %%kskkskkk3026 THH S R
606 [ 4 29 410306%Kk%%x%%054 1 LTHREE A
607 T 45 55 4 27 421 1 25%kskkkxxk3367 TR F A1




608 BT 4 25 411082 kskkkxkk 224 TR F A1
609 A T 4 25 411528 %skskskokoksiok | 629 LTHREE R
610 B % 24 500243 %skskskkoksksk0 222 LIS 5]
611 93 4 28 421022skkkxxxk0327 TR F A1
612 BT % 26 41272 1 sskskokokokkok3829 THRHEE R
613 Bk 4 AE 4 26 34122 1 #xkskkrkk3489 TR T A
614 I 4 4 27 42280 1 skskskonsk 1 425 THRHF A1
615 & 4 28 4211230046 TR F A1
616 E & 4 26 43082 [xkkxk%x%7729 TR F R
617 1t 3% 4 25 42098 43kskkkxk662 1 THRHF A
618 o 4 27 42900 5kskkkxk5682 TR F A1
619 2K I 3 4 25 420602 %k%xk%%%2023 TR F R
620 = 4 26 50023 0skkekskokokskok 752 1 TR F R
621 2% % 30 41300 Ikskskkxxx3028 TR F A1
622 A — 4 26 411328kkkkx%%7 160 LTHRHEE R
623 e P+ 4 28 42011 7ksoksokok 7602 TR T A
624 JE 4 4 27 421 122%Kkk%x%%3527 THRHF A1
625 &k 4 27 412822 kkkkxxk7 964 TR F A1
626 BT 4 26 372930%kkkkkkok] 183 THH S R
627 % R 4 25 42028 1 skskskonkok 1 62X THRHF A
628 # R 4 24 420302 kskkxk 1 52X TR F A1
629 | & 4 25 42038 1 kkokokokokkk 4629 THET AL
630 B iR E 4 27 42050 4s5kskkskokkok5929 TR A1
631 HE % 4 24 421024 xskkkkx%2522 TR F A1
632 x| 42 % 26 140222 %skskskskokkk5025 LTHRHEE R
633 B 4 29 411528xskkskkxx%0 72X TR E R
634 2] 4 26 421202%%kkkx5k%k342X THRHF A1
635 2= Bk ok 4 29 420684 xxk%%xx%0044 TR F A
636 R 4 25 410928%kskskxxk5163 TR A1
637 FEHN 4 26 422825%kkkkkk22X THRHF A
638 b fE 4 24 412828 kkkkxk 309 TR F A1
639 41 42 4 25 340721 sokskokokokokokd 525 LTHREE R
640 A 4 29 140602 %% x3x%%x9020 TR F R
641 A 1E 4 25 42122 [ xrkskrrk0021 TR F A1
642 Al 2 % 27 34122 5sskskokokskoksk 4662 LTHRHEE R
643 EEWH % 26 65020 3%skskskskk ] 829 TR E R
644 ES % 23 34292 1 *skskokokk5020 THRHF A1
645 FIEX = 26 42058 1 kskskskkkxx(034 1 TR F A
646 T EK 58 25 421126%**kkx%%] 129 THH S R
647 B 4 25 35021 2kskskokokk4528 THRHF A
648 FEH 4 26 34042 Dkskkkxxk3044 TR F A1
649 S SE % 26 37063 4sskskkkk3k0 0 2.2 LTHREE R
650 Fi#E 4 29 411621 skkkkxk3022 TR A1
651 H T % 25 411502skkkkx4k5626 TR F A1
652 B A % 26 52212 1 sekekskskskokok (008X THRH S R
653 B 4 25 420526 %Kskskkk%k ] 824 TR E R
654 7 2 K 4 26 420222xxkk%%x%0024 THRHF A1
655 XA 4 25 410622kkskkxx1 021 TR F A
656 JE A B 4 25 420525 %kkk%x%0064 TR F R
657 E =kl % 26 420683 xxkkk%xx(0345 THRHF A
658 4 4 27 412823 kkkkxxk7 240 TR F A1




659 K EE 4 25 4201 1 5kskkrrkd 707 TR F A1
660 4t BA AT % 25 411330xskkk%x%(0522 TR T A
661 BB 4 24 6227 25%kskskkokkk2 322 TR T A1
662 g % 28 52212 1 kskskokokk 6247 THRHF R
663 R4 4 26 421181 sk 5020 T F A1
664 e 4 27 6127 29%kkkkkkk 2725 THH S R
665 kA 4 27 220402%kkk k%362 THRHF A1
666 ERE 'S 26 370983 skckkorkok5845 THREF A1
667 ¥ XA 4 26 421 302skkskskskokokk082 | TR T A1
668 B 5 E 4 25 360424 %skkxk%4006 THRHF A
669 EX N 4 27 13098 Ik %3843 TR F R
670 53 4 25 421125%sk%354%%0069 TR F R
671 o3& 4 29 4112825 %Kk %%%k2325 TR A1
672 o E 'S 26 13052 1skekswokokk2 767 TS A1
673 g E 4 27 410225%%%sksk%%%x4166 T F A
674 P 4 24 4210023k k2626 TR F R
675 HEE % 25 411325%kskk%x%0429 THRHF A1
676 AR A 4 25 14223 [ ¥sokskkxx 3029 TR F A1
677 A 4 25 421002skskskkkxxx0528 THH S R
678 x| B # 4 27 371522%xskkkx%%2125 THRHF A
679 T 4 25 420107k 0020 TR F A
680 5k I 4 28 421 123%kskkkx002 1 TR F R
681 = W 4 26 612522k Kk kkk%332X TR F R
682 {472 'S 26 42011 5kt 044 TS A1
683 % 4 26 420529s%skskkkkkx2 123 THRH S R
684 Eis 4 29 422326%kkkx4k5829 TR T A
685 HEFH % 26 411522%Kskk%%%k4522 THRHF A1
686 i E 4 26 622 1 02skkskkokskokk4 729 TR F A
687 e 4 25 411321 skskskokokoirxk(0042 THH S R
688 BN 4 25 411202%kkk%%x%5525 LTHREE A
689 EES S 4 26 411625%kkk%xxx7 144 TR F R
690 KA 4 26 420582k Kk A kkBH83 TR F R
691 £ 37 3% 4 25 4212025 %Kkk %%k (545 TR A1
692 i 4 29 142325 %skskokskokokk822X TR R
693 ey 3 4 27 340123 %kkxxkkk5624 LTHRHEE R
694 33 4 27 37112 [kksrkxx%2966 TR F R
695 FHE = 29 131023 kksoksckk k2828 LT R
696 AT 4 29 411002sskskkxx%402X TR F A
697 ¥ A 4 26 522221 #xkskkkkk320X TR A1
698 Y 4 26 411402%kkk%%x%8524 THRHF A
699 LS “ 25 421 182skskkokk0028 TR R
700 =B 4 24 41081 1 skt 00 44 TR F R
701 B £ 4 26 420881 ¥xkkkkx%482 1 LS R
702 ERIE: % 26 411503 %xkskk%xx1043 TR F A1
703 A 4 27 421123 %%ssks5k%3%2820 T F A
704 F=— % 25 14260 1 #ksksokkx 2624 TR E R
705 Z ik % 28 34260 k%% 82X THRHF A1
706 = T A 4 24 14220 [ *sokskkxx9 184 TR F A
707 E- 4 27 13058 2skskskskskskk k0228 THH S R
708 4 4 25 4207043%K5kk%%% 1 620 THRHF A
709 70 FE 4 26 14018 I xsokskoorxk 284X TR F A1




710 I s i 4 30 41108 1xkkk%xx%2869 TR F A1
711 M 4 26 330902 %sskskkxk%0686 LTHREE R
712 EX 4 26 41018 23ksksk%4%%2920) LTHRHEE R
713 e 4 28 37091 Lksksorrork(0984 TR F A1
714 RFE D 4 25 36240 1 xkkkxx%%4925 THRHEE R
715 H 3 4 25 410426%kkkkxx%2560 THH S R
716 2 4 26 411503%kskkkxk4827 THRHF A1
717 125 'S 29 420321 seksokotoniok 729 THREF A1
718 B Ak R 4 25 43252 4%xsks55%3x064 1 LTHRHEE R
719 X3k 59 27 411328xxkk%%xx5025 THRHF A
720 ki = 26 42088 1 kskskkkxxx7 126 TR F A1
721 AL % 26 50010 1sekskekeksirok0228 LTHRHEE R
792 x| % 5 S 217 522425 %skkskkckokok5 424 ERH T R
723 = 4 26 422802 kkkkxxk5026 TR F A1
724 AR 4 26 421 302skskskskokokskok0827 LTHRHEE R
725 A+ ¥ E, 4 26 420525 %kskskkkxk2 829 TR E R
726 7% R 4 25 42052 Txxkk%xx%3020 THRHF A1
727 i 42 4 25 42028 L kskskxrk2068 TR F A1
728 B S 24 513701 sskskskokokorsk ] 623 TR A1
729 = # 4 28 420528%kskkkxk4449 THRHF A
730 Bk = 27 420202%kk%%%x% 1269 TR F A1
731 B 4 25 431127 sskskskokoksiokd ] 49 LTHREE R
732 I 4 25 14031 1 skksiskoeokoik0320 TR A1
733 [ 4 26 42280 Ixsokskoork 1425 TR F A1
734 B HEEH S 25 340802 s%kkskskskskok ] 124 LIS F1
735 2 L 4 24 421081 skeksioksekoiokd 308 TR T A
736 X[ & % 26 412722%%5k4%x%0065 THRHF A1
737 2N + 24 420322%xkk%xx%036 1 TR F A
738 FEE 4 26 3601 243%skskskk3k092X LTHRHEE R
739 %2 4 26 370830*kkkk%0068 THRHF A
740 ik = 24 410185%kskk%xxx1024 TR F A1
741 B 4 26 131126%xskk4%x0026 THH T R
742 W 4 28 420222 skkskskkokokok 2824 TR A1
743 JE| % 27 430527 xxkk%xx%4226 TR F A1
744 £ 4 26 410603%*skkxk0526 LTHRHEE R
745 T 4 26 420684 %kskskkkkk5527 TR E R
746 2 5 # 4 25 42282 3%Kxkkk%%1 626 THRHF A1
747 I E 8 27 140925 *skskkxxx002X TR F A
748 2 5 4 24 411503%kskkxkk532X TR A1
749 x| K 4% 4 25 4201023*3kk%x%0326 THRHF A
750 &= F Ly 4 25 410402k %%x%%5588 TR F A1
751 Ak 5 25 42900 1 skskokokokokokk 7426 THET AL
752 v % 27 42098 3kkskkxx%9 040 TR A1
753 AT E 4 25 41041 Irkskrrk556 1 TR F A1
754 HEE S 25 420606%*kkxxk3027 LTHRHEHE R
755 A A 4 25 370902 %kxkkx%% 522 TR T A
756 1t ¥ 2 4 26 36220 I kskkkkkd 024 THRHF A1
757 2% = 29 140302 %skkkkxx0422 TR F A
758 2 45 4 24 421181 sokskokokokokok8024 TR T A
759 B 4 29 41 14025%Kkk%5K6 762 THRHF A
760 ES A7 4 26 42900 1 sskskokkxk5582 TR F A1




761 B E + 26 420621 k¥%%%%x%6486 TR F R
762 B3 4 26 4312245 %s5ks5%%%890 | TR T A
763 DS S 29 420222 %%skskkk5x%6 12X TR T A1
764 =3 & 4 25 42028 I xsokskkkxx2825 TR F A1
765 %8 4 27 51160 2skkskkokskoksk3 365 THRHEE R
766 REE 4 27 420683%kskkxkk004X TR T A
767 & E 8 4 25 420684%Kxkk%x%4026 THRHF A1
768 ¥ 3 B] % 24 429004 %x**%xx%6668 THRHF A
769 = E W 4 24 420983 skskokokokokok9 22X TR T A1
770 2 F 4 26 4206825 Kkkxk%k352X THRHF A
771 gL 4 25 42052 7Txkkkkxxk5346 TR F A1
772 X 4 25 371323 skskk0k% 1 42X TR F R
773 B 4 27 42028 1 $kkkkrkd644 TR A1
774 5 F B 4 28 4201 1 Gxsokskrk ] 125 TR F A1
775 X E % 26 42062 1 skskskkokokkkG 32X THRH S R
776 20 4 26 420704 %kskskkk%k ] 646 TR E R
777 LR 4 27 45082 1 skskskokk(062 1 THRHF A1
778 i E & = 29 420222 kkkHH%%%T 22X TR F A1
779 ] 4 25 41152 7xxkkkx5x%0027 LTHRHET R
780 w2 & 4 25 41071 Isksokskosok 521 THRHF A
781 IEa % 26 41272 TxxKKKx¥K5TAT TR F A1
782 e 4 29 41282 3xxxkkkk%4024 THET AL
783 4 B 4 25 420527 kskkokkk5 325 TR A1
784 &A1& 4 26 420222 kkkkx%k2829 TR F A1
785 EY 4 26 411328kkkkx5xk7 167 LTHRHEE R
786 = 07 4 25 420683 %KHkk k32 122 TR T A
787 %W 4 25 42062 1 Fkskkxxk8665 THRHF A1
788 A2 4 25 4305230108 TR F A
789 4H5 4 27 3424223k k kx5 328 | LTHRHEE R
790 K% % 26 41038 1 kksokskok3027 THRHF A
791 e 4 25 41152 1 xskskoorxk(0542 TR F A1
792 I i Ak 4 25 4213023sk%354%x% 3320 TR F R
793 B HE 4 25 6205023k kkkk3k ] 662 LTHRHEE R
794 BT 4 26 420606xx*%%xx%1 026 TR F A1
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